
1.     

Now, many people have longer lifespan than
ancients because of (the) development of
technologies and better living standard.

2.     

Some issue may emerge, and social need tackle
this problem by some methods

3.     

With the rate of population in old age are rising
and they wants more medical facilities.

4.     

People with older age will product some old age
diseases, such as memorial decay and heart
attack.
When people get older they will get old age
diseases such as memorial decay and heart
attack.

5.     

So we should set up more medical facilities and
healthcare house to take care of the old and help
them to solve medical problems

6.     

This means the other age people may not acquire/
have convenient medical services.
the other age people  the others 

7.     

Governments can tackle the problems by two
ways

8.     

70
Firstly  improving the retire age and people will

continue work until 70s
9.     

By this way they can self-sufficient rather than rely
on government’s pensions.

10.  

Besides, governments should natural resident
habits to saving money, and the older can afford
parts cost of medicals and accommodations by
themselves. to of for

11.  

The population of olds may bring some challenge
to a county’s economic and governments may
inspired them postpone working dateline.
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